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St=23% - HASH
g 3 T A =i el M = Hl L 24 3 Hl Ell Hl
= = A & I = A & Ot = A & Ot = A
B S 563X SAFXE HE 104,548,305 130,349,141 75,378,165 310,275,611
[ ES L ENS 21,307,622 54,807,591 31,057,058 107,172,271
[2] DtAIE B 83,240,683 75,541,550 44,321,107 203,103,340
[1] E3 2 FAHS 21,307,622 54,807,591 31,057,058 107,172,271
1. ALE2EL 21,020,220 51,907,920 30,721,860 103,650,000
AMNE 28t E A, L=14km 13,820 | m3 1,521 21,020,220 3,756 51,907,920 2,223 30,721,860 7,500 103,650,000
2. 23 287,402 2,899,671 335,198 3,522,271
OtAEE T ENII 8 S0.7m3 320.1( m3 765 113,557 1,929 286,340 1,276 189,409 3,970 589,306
OtAZEZZHC JI A 134 m 534 71,556 855 114,570 23 3,082 1,412 189,208
f223elENMII T=30cmO| 2H( S0.7m2) 7741 m3 2,664 20,619 6,712 51,950 4,441 34,373 13,817 106,942
AEDNAEEE)N 192| m2 770 103,950 770 103,950
Ol Bl A & A w=2.0* H0.6m 80| &2t 28,214 2,172,478 28,214 2,172,478
HDIS & =41710.7 339.36 [ m3 487 81,670 1,016 170,383 646 108,334 2,149 360,387
[2] JDtAIE B 83,240,683 75,541,550 44,321,107 203,103,340
1.ES 4,699,638 12,606,716 5,186,606 22,492,960
10| S0.7m3 11,152 | m3 172 1,918,144 360 4,014,720 229 2,553,808 761 8,486,672
SE & 4x 1.0m3 BH, EA} 11,152 | m3 215 2,397,680 266 2,966,432 205 2,286,160 686 7,650,272
oI ¥ CHE 1,199 [ m3 282 338,118 4,516 5,414,684 210 251,790 5,008 6,004,592
223 EES / HOIL |E- X 8-12ecm(50m30/21) 32| m3 1,428 45,696 6,590 210,880 2,964 94,848 10,982 351,424
2. EFHMSA 122,465 303,300 9,196 434,961
2.01 H-PILEZ Al
)| B2t 170 m 138 37,560 183 37,881
HHl =8 2 ol LEEIIE 2 1] 3 75,332 667,019 391,842 1,134,193
LEEDIE 2 2 HHIE(¢500mm0|2t), 10< 110 =
LEEIIE 2 WS HIE 102 = 312,280 97,781 61,472 471,533
H-PILE 20| 5 = e 110 =
H-PILE 20| dE = &E 102 & 3,155 23,694 10,045 36,894
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WA
S AN Y UBS 563HN STFXE HESM T ESA
St=23% - HASH
=S| T A =i =] M 2 dl L 24 & Hl Ell Hl
= = A & Ot = A & Ot = A & Ot = A
2.02 C.I.PE At 122,465 303,300 9,196 434,961
LEEDIE 2 2 HHIE(¢500mm0]2F), 10< 320 2
LEEDIE 2 WS HIE 302 &2 312,280 97,781 61,472 471,533
22 el EEE/E I3} =8I 8-12cm(50m30]2F) 584 m3
22 el EEE/E I3} S8 I 8-12cm(50m3012F) 583.047| m3 986 4,109 7,109 29,624 2,207 9,196 10,302 42,929
22 880t & X8 2HE 57.634 | ton
22 88¥ts & X8 2HE 53.389 | ton 2,147 651 212,578 64,411 214,725 65,062
22 2¢ C.I.P 320 2
22a 21¢ C.I.P 302 &2 1,307 15,402 6,802 23,511
HEE/HEOH2 0-7m 102 | m2 5,605 117,705 9,965 209,265 15,570 326,970
A E 2Bt E AL L=14km 564 | m3
AE 28t E A, L=6.7km 546 | m3 1,851 1,537 1,158 4,546
2.03 2EtS
2TE (S-S E) L=50km 80.334( ton
2B (SE-IISE) L=50km 74491 ton 188 3,028 7,246 10,462
2.04 KETHCH
HEZM 290%201%9x14m/m 64.5kg/m 80.334 [ m/t
OHEZM 290%201%9x14m/m 64.5kg/m 74491 [ m/t 750,000 750,000
3. S ItAIE 3 At 78,418,580 62,631,534 39,125,305 180,175,419
3.01 H-PILE S At 32,776 603,160 124,168 760,104
LEEDIE 2 2 HHIE(¢500mm0|2F), 10< 2| =
LEEDIE 2 e HIE 2| = 312,280 97,781 61,472 471,533
HEE U< ¢ 406.4mm 137 m 289 289
H-PILE 20| &3 = gt 2| 2 3,155 23,694 10,045 36,894
H-PILE &I S, H-298+201 136| m 241 32,776 4,435 603,160 913 124,168 5,589 760,104
3.02 M & S A 5,335,691 12,254,504 2,154,587 19,744,782
H-Beam& Xl & & J{(H300~3m 02t =2 7,121 85,452 56,253 675,036 24,520 294,240 87,894 1,054,728
H-Beam& x| & & J{(H300~{3-5m Ol ot =2 7,241 50,687 57,199 400,393 24,933 174,531 89,373 625,611
H-Beam& x| & & J{(H300~{6-8m Ol ot =2 7,717 15,434 62,648 125,296 27,523 55,046 97,888 195,776
H-Beam& Xl & & H(H300~9-11m 0l &t 26| 2 8,100 210,600 68,551 1,782,326 30,459 791,934 107,110 2,784,860
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WA
S AN Y UBS 563HN STFXE HESM T ESA
St=23% - HASH
g 3 T A =i =] M 2 dl L 24 & Hl Ell Hl
= = XA & Ot = A & Ot = N & Ot = A

o &x L=9-11m, H600~800 10| set 4,143 41,430 | 128,884 1,288,840 23,268 232,680 156,295 1,562,950
o EA L=9-11m, H600~800 10| set 2,887 28,870 78,140 781,400 16,041 160,410 97,068 970,680
0% 2L (H-300+300|c—2 TYPE 18 [ JH 25,525 459,450 78,908 1,420,344 4,351 78,318 108,784 1,958,112
Mg A2l c—4 TYPE 12| 18,533 222,396 53,665 643,980 2,870 34,440 75,068 900,816
Mg AZ2LoHH c—6 TYPE 41 JH 13,206 52,824 28,423 113,692 1,389 5,556 43,018 172,072
AL O AZ LM D-1 TYPE, H-300 22| M 15,964 351,208 41,845 920,590 2,588 56,936 60,397 1,328,734
220l &xI(H-300) 0-4 TYPE, &= L-90%90 204 | 2 5,997 1,223,388 5,998 1,223,592 415 84,660 12,410 2,531,640
220l &xI(H-300) 0-4 TYPE, &= L-90%90 204 | i 436 88,944 3,987 813,348 286 58,344 4,709 960,636
220l &X 0-7 TYPE, 232 L-90%90 60| JH 9,795 587,700 5,998 359,880 415 24,900 16,208 972,480
220 &X 0-7 TYPE, 22 L-90%90 60 | JH2 436 26,160 3,987 239,220 286 17,160 4,709 282,540
S0 H-&& 273 | i 5174 1,412,502 3,157 861,861 194 52,962 8,525 2,327,325
SEWS 1:2 382| m 1,253 478,646 1,583 604,706 85 32,470 2,921 1,115,822
3.03 HEIE S At 12,727,783 48,988,396 5,733,038 67,449,217
STRUT & XI % & H(H300-50[3m 0]+ 37| 2 7,121 263,477 56,253 2,081,361 24,520 907,240 87,894 3,252,078
STRUT & XI % & H(H300-50{3-5m 0I5t 18 = 7,241 130,338 57,199 1,029,582 24,933 448,794 89,373 1,608,714
STRUT & XI % & H(H300-50[6-8m 0I5t = 7,717 61,736 62,648 501,184 27,523 220,184 97,888 783,104
STRUT & Xl 2 & J{(H300-50[9-11m 0l t 2 8,100 56,700 68,551 479,857 30,459 213,213 107,110 749,770
STRUT & XL & (H300-50[12-14m 0I5t 53| 2 10,289 545,317 88,500 4,690,500 39,491 2,093,023 138,280 7,328,840
STRUT &2 Z =-350%350 66 | JH2 3,329 219,714 31,674 2,090,484 35,003 2,310,198
STRUT S ol Xl =-350%350 66 | JH2 22,171 1,463,286 22,171 1,463,286
STRUT &t & =-350%350 114 i 3,329 379,506 31,674 3,610,836 35,003 3,990,342
STRUT St ol Xl =-350%350 114 W 22,171 2,527,494 22,171 2,527,494
STRUT PIECE & & =-350%350 76| JH 6,930 526,680 31,674 2,407,224 38,604 2,933,904
STRUT PIECE E‘ Z ol Xl = -350%350 76 | i 22,171 1,684,996 22,171 1,684,996
H-BEAM& X 2 & J1(H300-5(3m 0|2+ 18 = 7,121 128,178 56,253 1,012,554 24,520 441,360 87,894 1,582,092
A2 TH HI& H-300%300%10%15 36 | JH 20,836 750,096 | 124,616 4,486,176 5,908 212,688 151,360 5,448,960
2 &1 9~11m(H300-500) 2221 m 397 88,134 8,703 1,932,066 1,468 325,896 10,568 2,346,096
2 E 9~11m(H300-500) 2221 m 270 59,940 5,331 1,183,482 1,044 231,768 6,645 1,475,190
JACK X2 & &M, N=100ton 53| MM 73,594 3,900,482 14,087 746,611 87,681 4,647,093
JACK X2 & &M, N=150ton 41 JH 92,635 370,540 14,087 56,348 106,722 426,888
2/ MBS EFE X R E A N=150ton 76| JH 44,357 3,371,132 29,068 2,209,168 73,425 5,580,300
AEIZH &X 1-1 TYPE, H-300 236 | JHA 5,660 1,335,760 15,038 3,548,968 1,037 244,732 21,735 5,129,460
masets! ML H-298%201, L=400 56 | JH2 7,992 447552 | 125,451 7,025,256 5,624 314,944 139,067 7,187,752
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ofE=2=% - M=
e i 4 +=2f el M = bl L 24l 2 i g A
ct Ot e =) B =l B =l e

oA & H-298+201, L400 56 | JHA 35,090 1,965,040 - 35,090 1,965,040
L2 X L—90%90%10 65 m 37 2,405 7,852 510,380 311 20,215 8,200 533,000
L2 &) L—90%90*10 65 m 24 1,560 4,719 306,735 269 17,485 5,012 325,780
SUUSE 22204 HALG-2 TYPE 12| Ha 1,818 21,816 | 35,334 424,008 1,178 14,136 38,330 459,960
c-2E &3 =-350 + H-298 80 | JHA 834 66,720 | 10,102 808,160 342 27,360 11,278 902,240
c-2E ) 28 80 | JHA 2,583 206,640 - 2,583 206,640
3.04 28t= 48,907 785,474 2,905,512 - 3,739,893
2T (S H~IIBE) L=50km 71.84 | tom 188 12,620 3,028 203,267 7,246 486,417 10,462 702,304
STRUT2EHEEH BE~SH) |L=60km 86.366 [ tom 375 32,387 6,016 519,577 20,524 1,772,575 26,915 2,324,539
2B E~E) 700%300%13*24mm 10| set 390 3,900 6,263 62,630 64,652 646,520 71,305 713,050
3.05 A== - - 28,208,000 - 28,208,000
H=H| 1| Al - -| 28,208,000 28,208,000 28,208,000 28,208,000
3.06 XHXHCH 60,273,423 - - - 60,273,423
SAL=E(E230%) H-298%201%9x%14 9.527 | ton 158,670 - - - 158,670

A8 (&= 230%) H-298%201%9%14 15558 | ton 158,670 2,468,587 - - 158,670 2,468,587
oA (Z230%) H-298%201%9%14 1568 | ton 158,670 248,794 - - 158,670 248,794
& (£=230%) H-300%300%10%15 32.819| ton 158,670 5,207,390 - - 158,670 5,207,390
HE 2 (£=230%) H-300%300%10%15 2436 | ton 158,670 386,520 - - 158,670 386,520
LE A (£=230%) L-90-90-10 0.906 | ton 148,092 134,171 - - 148,092 134,171
STRUTAIR 2(£230%) 0.5m0| 8H(=-350-350, 9mm{Q 6| =2 35,965 2,733,340 - - 35,965 2,733,340
STRUTAIR 2(£230%) 1.0m(=-350-350, 9mmOI3t) 1| = 50,774 558,514 - - 50,774 558,514
STRUTAIR 2(£230%) 2.0m(=-350-350, 9mmOl3t) 6| =2 76,161 1,980,186 - - 76,161 1,980,186
STRUTAIR 2(£230%) 3.0m(=-350-350, 9mmOl| &t) 18| =2 101,548 1,827,864 - - 101,548 1,827,864
STRUTAIR 2(£230%) 6.0m(=-350-350, 9mmOI&t) = 188,288 1,506,304 - - 188,288 1,506,304
STRUTAIR 2(£230%) 9.0m(=-350-350, 9mmO| &t) = 272,912 545,824 - - 272,912 545,824
STRUTAIR 2(£230%) 11.0m(=-350-350, 9mmO| 5t = 325,802 1,629,010 - - 325,802 1,629,010
STRUTAIR 2(£230%) 12.0m(=-350-350, 9mmO| 5t 53 = 353,305| 18,725,165 - - 353,305 18,725,165
STRUTE &R =(2830%) |=-350-350 114 | A 24,752 2,821,728 - - 24,752 2,821,728
STRUTHZ2x(2830%) |=-350-350 66 | JHA 34,061 2,248,026 - - 34,061 2,248,026
c-2E 25(2230%) =-350-350 80 | JHA 12,905 1,032,400 - - 12,905 1,032,400
(= (674 2 012) H-700-300, L11.0m 10| set | 1,621,960 | 16,219,600 - - 1,621,960 16,219,600
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